Significance Testing Practice - One Sample Name: ke \/
AP Statistics

Qﬂch the following statements with the words on the right:

1. The null hypothesis is not false, and you rejected it. A

2. The null hypothesis is not false, and you failed to reject it.
3. The null hypothesis is false, and you rejected it. [

4. The null hypothesis is false, and you failed to reject it. B
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Explain in your own words:
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9. at would be the probability of making a Type | Error in our problem above? Explain. .
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10. As ﬁart of its 2010 census marketing camping, the U.S. Census Bureau advertised “10 questions, 10
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completed the form) to ask them how long it took them to fill out the forms. The sample had an average of
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. a. Inthe above example, explain %at“\‘?ge.’f and |l Errors wolld be ciz-c':o text, a“owhat a consequence

for each would be.
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11. Totest Ho: u = 105 versus Ha: p+ 105 | a simple random sample of size|n = 35/s obtained.

a. Does the population have to be Normally distributed to test thjs hypothesis Why or why not?
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¢. Draw a t-distribution gnd shade the area that represents the P-valu%: _3.10%,
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d. Find and interpret the P-value in the context of this problem situa_\tion. =l Y.y & L1
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12. A cancer research group surveys 500 women more than 40 years of age to test the hypothesis that 28% of

women in this age group have regularly scheduled mammograms. Should the hypothesis ﬁ:ejected at
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